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IEfZ 3 GROSS HDCP
B2 1 |28 =X BEIJOvD Fh RIS = 51 43 94 27.20 66.80
B 2 |BE & HikJOv o EFREE 24 44 45 89 21.20 67.80
31 3 |lLW S % IOv D KBRAT AT AN 43 44 87 17.60 69.40
4 |fIH =— A& IOv D KBRAT AT FERIHE 42 43 85 15.20 69.80
5 |/UWk =i BEIJOVD —ERRE = 36 36 72 2.00 70.00
6 [AX BE— A& IOv D KBRAT AT FEKBR 44 41 85 14.00 71.00
RSOVE 6 |MREE f9ib % IOv D KBRAT AT RIEET 48 49 97 26.00 71.00
8 |A\K f&& MEJOvV S BEREE (e 52 43 95 23.60 71.40
9 |EEL B8 % IOv D RRERE - 53 40 93 21.20 71.80
RUEOVOf) | 10 |BH %088 IOV RRESE = 45 47 92 20.00 72.00
11 |SH B BEIJOvD THEREE XR 44 45 89 16.40 72.60
—F7EVE 12 |KFHF & A& IOv D RRESE - 42 40 82 9.20 72.80
12 (R B FEIOVS IORSE 1LiBs 44 44 88 15.20 72.80
12 (AR R—HB A& IOv D REBRT AT o] 45 43 88 15.20 72.80
12 | BE EEJOvo  |bEEE 21N 48 52 100 27.20 72.80
12 |XE 8 A& IOv D RRESE - 45 49 94 21.20 72.80
17 (WL ZEth BEIJOvD THEREE XR 45 42 87 14.00 73.00
17 |#BK HE BEIJOvD Eh RIS = 43 44 87 14.00 73.00
19 |XRH EF HikJOv o BEREE BE 43 43 86 12.80 73.20
19 |AA £ MEJOvY S BEREE FA= 48 50 98 24.80 73.20
19 |BE [LKHB BEIJOVD FMRRE e I 49 49 98 24.80 73.20
22 B Bz MEJOvY S BEREE (e 48 43 91 17.60 73.40
23 |@H B BEIJOvD FHE RIS Bt 53 43 96 22.40 73.60
23 (LA & A& IOv D HEREE K 42 48 90 16.40 73.60
25 |IUF EE umJOovs BREREE 1878 54 47 101 27.20 73.80
YHE 26 |ER HE EEIOvo  |tEEE 21N 48 46 94 20.00 74.00
27 |EM K BEIJOvD THEREE XR 48 50 98 23.60 74.40
27 |BEH O A& IOv D HEREE K 48 50 98 23.60 74.40
29 | KRR % & IOv D RRERE - 41 44 85 10.40 74.60
29 (Bl A BEIJOVD SRS 2/ 58 45 103 28.40 74.60
29 A ER & IOv D HE RS EZiR 45 46 91 16.40 74.60
RUEGBOM) | 29 |[EHF Fx A& IOv D KBRAT AT FEKBR 43 42 85 10.40 74.60
33 |KE %X BEIJOVD FHMRRE e I 51 57 108 33.20 74.80
34 |GBH = BEIJOvD FE RIS Bt 51 50 101 26.00 75.00
34 |4 TZ EEJOvo  |bEEE 21N 51 50 101 26.00 75.00
34 (R HBE A& IOv D RRESE - 46 43 89 14.00 75.00
37 |EH WiE & IOv D HE RS EZiR 52 52 104 28.40 75.60
37 [ZH (&— BEIJOVD SHMRSE e I 51 53 104 28.40 75.60
37 |BEE K BEIJOvD FHE RIS E = 46 52 98 22.40 75.60
37 |A& Ex & IOv D KBRAT AT AN 41 45 86 10.40 75.60
37 |BEH F— & IOv D HEREE Kz 41 39 80 4.40 75.60
—F7EVE 42 Rk B & IOv D KBRAT AT RIEET 42 42 84 8.00 76.00
42 @ HE & IOv D KBRAT AT Bix 54 48 102 26.00 76.00
44 |l —% TEE# IOV |EILREE s 59 48 107 30.80 76.20
44 |EE &N BEIJOvD THERSE XR 50 45 95 18.80 76.20
46 |fHa HEE BEIJOVD SRS e I 46 42 88 11.60 76.40
46 |KiIZz =BF & IOv D HE RIS EZiR 46 54 100 23.60 76.40
46 |/\EH BEBAEB BEIJOvD FHEREE il 51 43 94 17.60 76.40
ROEGOM) | 49 |/RT #3 EHEIOVD —EREE = 52 41 93 16.40 76.60
49 |80 #X & IOvH KBRAT AT Bix 54 51 105 28.40 76.60
49 |H HA BEIJOVD IR IR S BEBR 47 46 93 16.40 76.60
52 |HE f&— MEJOvY S BEREE (e 48 44 92 15.20 76.80
52 |hOEE BRSE BEIJOvD FHE RIS Bt 48 50 98 21.20 76.80
54 AH X% BEIJOVD SRS 2/ 55 53 108 30.80 77.20
55 [/KEF @77 BEIJOVD FHMRRE 2/ 46 49 95 17.60 77.40
RSOVE 55 |z & & IOv D KBRAT AT Bix 52 49 101 23.6 77.40
RSOVE 57 |fIH i & IOv D RRERE =R 47 53 100 22.4 77.60




57 |#ER = BEJOvo BHEREE = 45 55 100 22.4 77.60

59 &K IGE & IOvD HE RIS EZiR 57 48 105 27.2 77.80

59 |KIE O&H BEJOvo MARRE FEHE 53 49 102 24.2 77.80

59 /NIl RE EEIJOvH TERSE il 51 48 99 21.2 77.80

62 |{kik #— HiLtJOwv o WHRRE FKEH 57 47 104 26 78.00

63 |t =8 PEJOvVY LEREE &l 54 49 103 24.8 78.20

63 | A8 E4F & IOv D HE RIS PN 52 57 109 30.8 78.20

65 |21l HE EEJOvH FHE RIS =t 54 47 101 22.4 78.60

65 |—E HE & IOv D HE RIS EZiR 43 46 89 10.4 78.60

67 |JAA HEX A& IOvD K BRATHT E FERAR 52 47 99 20 79.00

68 Qi Y EEEER IOV D | ELERE = 59 51 110 30.8 79.20

68 |He IEH PEJOvVS LEREE [si=h 49 49 98 18.8 79.20

RUE(70RI) | 70 |& IE3¢ BEIJOvD TREESE RR 55 59 114 34.4 79.60
70 BRIl #t & IOvD HE RIS EZiR 50 64 114 34.4 79.60

72 (I ZEX A& IOv D RRESE =R 57 50 107 27.2 79.80

73 [{BH RAX EHEIOvD —ERRE = 50 50 100 20 80.00

74 |FH HE EEEB IOV D | R)IREE VKA 56 52 108 27.2 80.80

74 |BEA BfE & IOvD RRERE =R 53 55 108 27.2 80.80

74 |RHE SR A& IOv D REBRT AT e 52 56 108 27.2 80.80

77 |fHIE IE#E & IOvD RRERE =AY 49 58 107 26 81.00

77 |F &7 & IOv D K BRATHT E R 52 55 107 26 81.00

79 |8 BE MEIOv S BEREE [afe 48 52 100 18.8 81.20

80 |mmE E & IOv D K BRATHT E FERAR 46 53 99 17.6 81.40

81 | X1 N EEIOvD SIS IRE Fe I 50 52 102 20 82.00

81 |H%E {AfS ANI0Ov o BIRRRE = 65 55 120 38 82.00

83 |AX EBE & IOvD HE RIS Pl 50 51 101 18.8 82.20

84 |HEE} [EfD A& IOvD K BRATHT E R 62 55 117 34.4 82.60

85 |ME H= & IOwvD K BRATHT E K& 61 55 116 33.2 82.80

86 |MHA HR& A& IOvD RRERE =R 59 60 119 36 83.00

86 |iEE EE EHEIOvD SIS IRE Fe I 54 49 103 20 83.00

ZT7EVE 86 |ME HiE FEJOVD FA[IN=YE G L 60 61 121 38 83.00
89 B2 MEXES EEIOvY FHE RIS =t 64 54 118 34.4 83.60

ROEQOfI) | 90 |#8H ¥— BEJOvo FE RIS =t 57 63 120 35.6 84.40
91 |BM X & IOwvD K BRATHT E R 62 59 121 36 85.00

92 |FE = & IOv D HE RIS NE 57 65 122 36 86.00

92 |HH =HU & IOwvD RRERE =R 70 52 122 36 86.00

94 |FHiH BE tEEIOvs  |tEEE =N 58 65 123 36 87.00

94 |ILKX RPEF METOv S &IRSE =0 59 63 122 35 87.00

94 [ILIF R¥F w=EIOvD FHSIRE 2/ 67 58 125 38 87.00

97 |HE =t & IOwvD RRERE =R 60 58 118 30.8 87.20

98 |MmA0IF] w=EIOvD FHSIRE R IR 61 63 124 36 88.00
ROE(10047) | 99 |FEF&% A EHEIOvD SIS IRE R 57 53 110 21.2 88.80
99 |#nAK 1BE w=EIOvD FHSIRE Fe I 68 54 122 33.2 88.80

101 |[REH %% & IOwvD K BRATHT E FERIR 61 63 124 34.4 89.60

102 |WE #HF BEJOvo FE RIS =t 62 65 127 36 91.00

103 (A% = EEIJOvo TERSE RR 63 52 115 23.6 91.40

104 |Ink BE BEJOvo BEREE TV 67 70 137 36 101.00

105 ([FHE K& FEIJOVD SIS IRE Fe I 69 69 138 36 102.00

J—E— 106 (¥R %5 & IOv D K BRATHT E FERIR 76 64 140 36 104.00
J—E—-M | 107 (FA B2 EHEIOvD SIS IRE Fe I 81 85 166 36 130.00




